
MATE 4000 assignment 3

11. In generalin a topologicalspace,if A, B arearbitrarysubsets,oneof thesets(A ∪ oB) and
o
A ∪

o
B is alwayscontainedin theother. Show which.Give alsoanexamplewherethesets

arenotequal.

12. Let C bea collectionof subsetsof thesetE . Supposethat∅ andE arein C , andthatfinite
unionsandarbitraryintersectionsof elementsof C arein C . Show thatthecollection

T −− {E \ C : C ∈ C}

is a topologyonE .

13. If X is a topologicalspaceandB afilter basein X, show thatthesetof supersetsof B (sets
containinganelementof B ) is afilter.

14. Problem1,chapterII p.129from Dixmier.


